
SAP ABAP table OIJBRDACTUALS {IS-OIL TSW: Table to store the actuals}

OIJBRDACTUALS

MANDT [CLNT (3)]

TSYST [CHAR (10)]

LOCID [CHAR (10)]

MATNR [CHAR (18)]

NOMNR [CHAR (20)]

NOMTK [CHAR (20)]

NOMIT [NUMC (10)]

DATUM [DATS (8)]

TICKETNR [CHAR (20)]

CHARG [CHAR (10)]

IRIND [CHAR (1)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 OIJBRDACTUALS-MATNR = MARA-MATNR 
0..N

0..N

OIJHCT01

MANDT [CLNT (3)]

TICKETNR [CHAR (20)]

LOCID [CHAR (10)]

TKT_YEAR [NUMC (4)]

TKT_MONTH [NUMC (2)]

 OIJBRDACTUALS-TICKETNR = OIJHCT01-TICKETNR 
0..N

0..N

OIJLOC

MANDT [CLNT (3)]

LOCID [CHAR (10)]
 OIJBRDACTUALS-LOCID = OIJLOC-LOCID 0..N

0..N

OIJNOMH

MANDT [CLNT (3)]

NOMTK [CHAR (20)]
 OIJBRDACTUALS-NOMTK = OIJNOMH-NOMTK 

0..N

0..N

OIJNOMI

MANDT [CLNT (3)]

NOMTK [CHAR (20)]

NOMIT [NUMC (10)]

 OIJBRDACTUALS-NOMIT = OIJNOMI-NOMIT 

0..N

0..N

OIJRD

MANDT [CLNT (3)]

TSYST [CHAR (10)]

LOCID [CHAR (10)]

MATNR [CHAR (18)]

DATUM [DATS (8)]

 OIJBRDACTUALS-DATUM = OIJRD-DATUM 

0..N

0..N

OIJTS

MANDT [CLNT (3)]

TSYST [CHAR (10)]

 OIJBRDACTUALS-TSYST = OIJTS-TSYST 

0..N

0..N

T000

MANDT [CLNT (3)]

 OIJBRDACTUALS-MANDT = T000-MANDT 

0..N

0..N


